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Question Number : 1 Question Id : 630680221096 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

In March 2023, Unifed Arab Emirates President Sheikh Mohammed bin Zayed Al Nahyan has appointed whom as the
crown prince of Abu Dhabi?

Options :

1.« Sheikh Khaled

2. % Sheikh Mansour

3 % Hazza bin Zayed

4. % Sheikh Tahnoon

Question Number : 1 Question Id : 630680221096 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

| v 28 IS
2. % 0F SIS

Lk T DS TS

4 % 5 SIS

Question Number : 2 Question Id : 630680221097 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

In April 2023, who has been named as first woman astronaut for the Moon Mission by NASA?

Options :

1 = Kayla Barron

2.« Christina Koch

3 % Megan McArthur

4. % Shannon Walker

Question Number : 2 Question Id : 630680221097 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options :

| % 3 2¥OQ

, » B 85

5 % MDD

4% XIS 7EB

Question Number : 3 Question Id : 630680221098 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding the Oscar Awards 20237
I. "Coda" is awarded as best picture.

II. Will Smith was awarded Best Supporting Actor.
Options :
1 = Onlyl

> % OnlylIl

3. % BothIandII



4.« Neither I nor I

Question Number : 3 Question Id : 630680221098 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 630680221099 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is correct regarding the Synthesis Report (SYR) released in March 20237
I SYR was published by the Intergovernmental Panel on Climate Change (IPCC).
I. SYR summarises the findings of seven reports released during its seventh assessment cycle.

III. According to the report, excess emissions from human activities have raised global temperature by 1.1°C above
1850-1900.

Options :

1 % OnlyIandII
> % Only Il and III

3  Only Iand III

4 % LIlandIII

Question Number : 4 Question Id : 630680221099 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 630680221100 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is correct regarding award and its recipient?

I. The Abel Prize 2023 — Luis A. Caffarelli

IT. Sveriges Riksbank Prize in Economic Sciences 2022 — Paul R. Milgrom
Options :

1« Onlyl

> % OnlylIl

3 % BothIandII

4. % Neither I nor II

Question Number : 5 Question Id : 630680221100 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 630680221101 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following awards/prize with respect to of their year of establishment from earliest to latest?
L. Grammy Awards
II. Pulitzer Prize

III. Magsaysay Awards
Options :
1.« ILILI

5 % LILII

3 % OLILI



4 % LILII

Question Number : 6 Question Id : 630680221101 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options :

1w 1L
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3 s I, 0L

4 % 110

Question Number : 7 Question Id : 630680221102 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

In February 2023, has India’s first hydrogen combustion engine tech for heavy-duty trucks.



Options :

1 % The Tata group

2.« Reliance Industries Limited

3 % Adani Enterprises Ltd

4. % Mahindra & Mahindra

Question Number : 7 Question Id : 630680221102 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 630680221103 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Correct Marks : 1 Wrong Marks : 0

In which city is India's first 3D-printed post office set to open?
Options :

1« Bengaluru

5 % Gurugram

3. % Pune

4, % Surat

Question Number : 8 Question Id : 630680221103 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 630680221104 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding “AVGAS 100 LL” launched in September 20227
L. It is a special aviation fuel meant for piston engine aircraft and unmanned ariel vehicles.

II. It was developed by DRDO.

Options :

1 « OnlyI

> % OnlyIl
3. % BothIandII

4. % Neither I nor IT

Question Number : 9 Question Id : 630680221104 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 630680221105 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding “KRITAGYA 3.0™?
I. It is a National level Hackathon on crop improvement.
IT. It is organised by Indian Council of Agricultural Research.

III. It promotes ‘speed breeding for crop improvement’.
Options :

1 % OnlyTandII

5 % Only IIand III

3 % OnlyIand III

4w LITand III

Question Number : 10 Question Id : 630680221105 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 630680221106 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding the Aravalli Green Wall Project?

L. It was launched by the Union Minister for Environment, Forest and Climate Change, Shri Bhupender Yadav.

IL. It was launched on March 25, 2023,

III. It is a major initiative to green 50 km buffer area around the Aravalli Hill Range in four states.
Options :

1 % OnlyIandIII



5 % Only ITand III
3  OnlyIandII

4 % LIlandIII

Question Number : 11 Question Id : 630680221106 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 630680221107 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding Aadi Mahotsav 20237

L. It was held from 16 to 23 February 2023.

II. It was held at Major Dhyan Chand National Stadium in Delhi.
Options :
1 % OnlyI

5 OnlyIl

3. % BothIandII

4. % Neither I nor IT

Question Number : 12 Question Id : 630680221107 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 630680221108 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

In January 2023, Atal Pension Yojna subscribers have crossed a count of Crores.

Options :

LN

1.

2. % 10

I3

Question Number : 13 Question Id : 630680221108 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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2. % 10

Question Number : 14 Question Id : 630680221109 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which state of India has launched Bal Panchayats in February 2023 to curb child marriages?

Options :

1 % Punjab

2.« Assam

3. % Maharashtra

4. % Tamil Nadu

Question Number : 14 Question Id : 630680221109 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 630680221110 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Lumpy Skin Disease mainly affects

Options :

1. % humans

2.« cattle

3 % birds

4 % bigs

Question Number : 15 Question Id : 630680221110 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 630680221111 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

The technique of DNA fingerprinting was first developed by

Options :

1« Alec Jeffreys

2 % Richard Owen

3. % Ernst Haeckel

4 % Gregor Mendel

Question Number : 16 Question Id : 630680221111 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 630680221112 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding stem cell?
Options :

1 % There are three main types of stem cells.

5« Stem cells serve as a repair system for the body.

3 % They can do only specific functions in the body.

4 % Embryonic is not a types of stem cells



Question Number : 17 Question Id : 630680221112 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 630680221113 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding carbon?
I. Carbon forms covalent bonds with itself and other elements.
II. Carbon form double and triple bonds between carbon atoms.

ITI. Carbon and its compounds are some of our major sources of fuel.

Options :

1 % OnlyIandII

> % Only Il and III



3 % Only Iand III

4w L 1landIII

Question Number : 18 Question Id : 630680221113 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 630680221114 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0

Which of the following statement regarding life process is correct?
L. Heterotrophic nutrition involves the intake of complex material prepared by other organism.

IL. Respiration can only be anaerobic.

Options :

1 Onlyl

> % OnlylIl

3. % BothIandII

4. % Neither I nor IT

Question Number : 19 Question Id : 630680221114 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 630680221115 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Match the following element with their respective atomicity.

Element Atomicity

I | Argon 1 | Poly-atomic

[

II | Oxygen Monoatomic

IIT | Sulphur | 3 | Diatomic

Options :

1 % I-3,II-1, III-2

5 12,113, 1II-1

3 % I:2,1-1,1II-3

4 % I-3,11-2, III-1

Question Number : 20 Question Id : 630680221115 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0
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Options :

1% -3, 11, 112

2w -2, 1I-3, 1lI-1

3 % -2, 1I-1, 11-3

4 % -3, 11-2, 1lI-1

Question Number : 21 Question Id : 630680221116 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following pair of cell type : number of chromosomes is correct?
I. Prokaryotic cell : Single

II. Eukarvotic cell : More than one
Options :

1 % OnlylI



> % OnlylIl

3 « BothIandII

4. % Neither I nor I

Question Number : 21 Question Id : 630680221116 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 630680221117 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0

Members of which phylum of animal kingdom are commonly known as roundworms?

Options :

1. % Annelida

2 % Mollusca

3 % Platyhelminthes

4.« Aschelminthes

Question Number : 22 Question Id : 630680221117 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 630680221118 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Correct Marks : 1 Wrong Marks : 0

Herbivores are part of trophic level of an ecosystem.

Options :

1. % First

2« Second

3. % Third

4, % Fourth

Question Number : 23 Question Id : 630680221118 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 630680221119 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

In India, the Epidemic Disease Act, which was seen in the news during the COVID-19 outbreak, was enacted in

Options :

1. % 1881
2 % 1887
3. % 1891

4.« 1897

Question Number : 24 Question Id : 630680221119 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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4 1897

Question Number : 25 Question Id : 630680221120 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Planting, Stepped Terraces and Suspended Fences are some mitigation measures for

Options :

1.« avalanches

5> w earthquakes

3. % heat waves

4. % chemical disaster

Question Number : 25 Question Id : 630680221120 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 630680221121 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Aarogya Setu App which is used for covid-19 tracking was developed by L
Options :

1. % Indian Space Research Organisation

2« National Informatics Centre

3 % All India Institute Of Medical Science (AIIMS)

4. % Indian Council of Medical Research

Question Number : 26 Question Id : 630680221121 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 630680221122 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

With respect to air pollution, what do the terms "SWAS, SAFAL, and STAR" refer to?

Options :

1 % Alr purifiers
2. % Alr Pollutants
3. « Green Crackers

4 w Greenhouse gases

Question Number : 27 Question Id : 630680221122 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 630680221123 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Microplastics are tiny plastic particles with an upper size limit of

Options :
1.+ 5 mm in diameter
2 % 30 mm in diameter

3. % 50 mm in diameter

4. % 100 mm in diameter

Question Number : 28 Question Id : 630680221123 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0
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Options :

- 500 5 mm

5 % 50 30 mm

3 % 5505 50 mm

4 % S50 100 mm

Question Number : 29 Question Id : 630680221124 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the second most abundant anthropogenic greenhouse gas (GHG) after carbon dioxide?
Options:
1. % Nitrous oxide

2.« Methane

3 » Hydrofluorocarbons

4. % Perfluorocarbons



Question Number : 29 Question Id : 630680221124 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

& 1800 T8S £E)5 AArS)G S5 o0 Ny 0N SrdsEds ST
TN (GHG) E?

Options :

Deon &5 8%

5 v NBS

G BTE D

HOFEEIS)

Question Number : 30 Question Id : 630680221125 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

In 2022, Earth Overshoot Day was on

Options :

1 % 27 July

5 28Tuly

3 % 29 July



4 % 30 July

Question Number : 30 Question Id : 630680221125 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

20225, DO 8.384878 & & =806,

Options :

27 273

1. #

, » 28 &S

3« 29 &S

4w 30 TS

Question Number : 31 Question Id : 630680221126 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

As of October 2022, how many beaches in India have *Blue Flag® beaches?

Options :

1. % 8

2. % 10



]

3 ¢ 12

4. % 14

Question Number : 31 Question Id : 630680221126 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

0§20 2022 T¢38, rdSDE0S AR DTS WF TN DSew G on?

Options :

1. % 8

2. % 10

3.« 12

4. % 14

Question Number : 32 Question Id : 630680221127 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement regarding Methanol is correct?

I. Methanol is a clean burning drop in fuel which can replace both petrol & diesel in transportation & LPG, Wood,

Kerosene in cooking fuel.

II. Methanol can be produced from Natural Gas.

Options :



1 = Lonly

> % IIonly

3.+« BothIandII

4, % Neither InorII

Question Number : 32 Question Id : 630680221127 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

DETOH 020000 & 500 FES NBIO A6?

LSS ©RO 208908 HAT A:Fd0 ToB Do), 20 VEY & GBS Todoed
S & S0& 508550 LPG, 009, 8RS Bokot3s adenm Fdached.

I 0sFe arane) 0d TN GBS DOV,

Options :
IRV (B
5 % I S

3 ¢ | 08A Il e Bocar

4 % 1 50 S Il 570 08 5%



Question Number : 33 Question Id : 630680221128 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding Climate Change Performance Index 20237

I. India secured 8™ position in the index.

II. United Kingdom secured 1t position in the index.

III. India’s rank is the best amongst the G 20 counries.
Options :

1 % landIIonly

> % IlandIIT only

3 % landIII only

4 v L 1landIII

Question Number : 33 Question Id : 630680221128 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

S8 ToFf D078y 203 20238 How080D), & (08 (PEasOS’ B NBIE?

L & 20@5)S rdSTI0 85 TR FoB0d.
I & 2035)S ATDE Sofcd 15 YRy Fodod.
Il 220 BFOS FESTTIO @S oS,

Options :

1.



I D3A® 11 e Sredad

5 % 11 SHBAW M en S
3 x| BN I e S
4 @ 11 DB I

Question Number : 34 Question Id : 630680221129 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of rivers and their tributaries is correct?

Options :

1. # Indus —Son

> % Ganga— Zaskar

3« Brahmaputra — Dibang

4 % Godavari — Ghatprabha

Question Number : 34 Question Id : 630680221129 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



&e 806 SEN HBAW 3 GHN 2SS DO DBIE?

Options :

5, » fof - 20,0
3 v QTS - Heroh

4 x DSB8 - DEDHES

Question Number : 35 Question Id : 630680221130 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following wildlife sanctuary of India from north to south?
I. Sarika wildlife sanctuary
II. Chandra Prabha wildlife sanctuary

III. Periyar wildlife sanctuary
Options:

1 « LILII

5 % IOLILI

3 % OLLII

4 % ILLII



Question Number : 35 Question Id : 630680221130 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

2r8SB05R & 1808 ST @STdEreD G380 D06 BTN N8 087

| 208 Sedjarene egialrdeso
Il 90(C[208 o309 aTeane @asrdeaso
Il DOAITD Sedjarene) @z5osrdeaso

Options :

1w Lo,

5 % L0,

3 s M1,

4 % 11

Question Number : 36 Question Id : 630680221131 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0



Match the following Indian States with their capital?

State Capital

I | Mizoram | | | Dispur

IT | Assam

I~

Agartala

IIT | Tripura | 3 | Aizawl

Options :

1. % I-3,II-2,1II-1

> % I-1,II-2.III-3

3 % I-1,II-3,III-2

4 v 3,01 102

Question Number : 36 Question Id : 630680221131 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

& 1808 2rdaaH T aredd 3 TS B3eédE0d?

O°| 20 o225
I | S o | 1| &6

Il |eomryo | 2 | erder

| €368 3 | et




Options :

1w 13, 112, 111

> w -1, 11-2, 1l-3

3 % -1, 113, 112

4w -3, 11-1, 1lI-2

Question Number : 37 Question Id : 630680221132 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the correct order (first to last) of the following cities with respect to sunrise time?
L. Hyderabad
II. Patna

I1I. Raipur

Options:

| % LILII

5 % OLILI

3 v ILILI

4 % OLLII



Question Number : 37 Question Id : 630680221132 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

ArGsa HH0TAR H020800 & 808 TS G EH0 FodS wod SO 88
o3

| SrO0erd
Il o)

I, Toeyd

Options :

1w Lo,

5 s ML, 11,

3 I

4% L1

Question Number : 38 Question Id : 630680221133 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the chronological order (first to last) of following events with respect to Indian demography?
I. Rangarajan Report on Poverty was submitted.
II. Latest census conducted in India.

III. Mahatma Gandhi National Rural Employment Guarantee Act was enacted.

Options :



| % LILII

5 % ILLII

3 v OLILI

4 % LILI

Question Number : 38 Question Id : 630680221133 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

28809 2rd) HoR0dod) & 1808 N0s&Ne SFOEArdE0 (FNAE ok Db
88)) dDed?

. JofiTeed D080 AROED N 0w,
I 5788308 mr e B8 Abrotadod.

I ey mod aredad (mhe G b S50 @HeS D08,

Options :

1% 10,

5 s I 1, 1



Question Number : 39 Question Id : 630680221134 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Arrange the following Indian States/UT based on their literacy rate from lowest to highest as per census 20117
I Kerala
II. Lakshadweep

I Mizoram

Options:

| % LILII

5w ILILI

3 % ILLII

4 % ILILI

Question Number : 39 Question Id : 630680221134 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

011 272 BLO (50 & 1508 rdSch TERFOWTOR 6 wiTised Bin @)
208 e TS 8106 2

| 36
I ©§AR
. S0



Options :

1w Lo,
5 @ I, 1,
3 s I L
4% 1,0, |

Question Number : 40 Question Id : 630680221135 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

In India, which of the following pairs of commissions in India and their report submission years are correct?
I Report of the Linguistic Provinces Commission — 1948

II. Report of the States Reorganisation Commission — 1951
Options:

1 « OnlyI
> % OnlyIl

3. % BothIandII

4. % Neither I nor IT

Question Number : 40 Question Id : 630680221135 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Correct Marks : 1 Wrong Marks : 0

ST, & 1800 wrEBTHY o SO HO0H S AIBE KHBODY oSS T
56 SRS

L 0P8 [WARID S 3OS - 1948
I OO 565550808 g dIAS - 1951

Options :

PR IR (5B

5 % I S

3 % | 08a% Il

4% 1 50 S Il 50 08 5%

Question Number : 41 Question Id : 630680221136 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following religious communities in India with respect to their population per cent as per the 2011 census?

Community | | Percent

[ | Christians | 1123

I | Sikhs 2119

III| Buddhists |3 |08

Options :

1. % I-1,1I-3,III-2

> % I-3,1I-2, III-1

3  I[-2,II-1,III-3

4 % 1,102,113

Question Number : 41 Question Id : 630680221136 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



2011 272 850 D580, 2SI R 808 HFS H020600S ddrzred o8
2y FH0S 2and0i?

Yerzo| | TS0

3090 | 1]23

Il %yen |2[19

I 257Cen | 308

]

Options :

1% -1, 113, 112

o w I-3, 1I-2, 1lI-1

3 v -2, 1I-1, 11-3

4 % 1,112, 113

Question Number : 42 Question Id : 630680221137 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding Principles of Sustainable Development?
L. Sustainable Development aim to minimise the depletion of natural resources.

II. It aim to conserve the earth’s vitality and diversity.
Options :

1 % Lonly



> % only

3 « BothIandII

4. % Neither I nor I

Question Number : 42 Question Id : 630680221137 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

8 @30 Tl Howod0D & 500 FBS HBIE &?

| 0572 S8 §eacsed Sfotstho 8 e@dsyd ©F so.
I 2O Srad Gng) ZdS 00 BATER), Sardeo ©F 0 ERHOA.

2]

Options :
IR (B
5 % I S

3 ¢ | Q08N 11 e Bocar

4% 1 50 S Il 57 08 525

Question Number : 43 Question Id : 630680221138 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following industrial regions in India based on their location from east to west.
L. Hugli region
II. Chottanagpur industrial belt

I1I. Ahmedabad-Baroda region

Options :

1 % LI
5 « IFI-II
3 % MI-II-I

4 % ILIII

Question Number : 43 Question Id : 630680221138 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

26675050 1808 TV oFed $rd) Lod K S8 T T erdorr
@900,

L ol (Froso
Il Serhayl @och 0% B9

. & merd-ade [@Froso

Options :

1 % -

5>« I



3 % -l

4 % -1l

Question Number : 44 Question Id : 630680221139 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the correct order of following Iron Ore type based on their iron content from highest to lowest?
L. Magnetite
II. Hematite

II1. Siderite
Options :

| % OLILI

5 » LILII

3 % LILII

4 % ILLII

Question Number : 44 Question Id : 630680221139 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



NG e O3 3 By $oT0d) errdor w880 Mok edieo SO
@9 0803 MR (500 wade?

. S e
Il 3rBE
Il AT

Options:

1w I

5> @ 1L

Question Number : 45 Question Id : 630680221140 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding Fundamental Duties mentioned in the Indian Constitution?

I. There is no fundamental duty parents have towards their wards.

I1. At present there are 12 fundamental duties.

Options :

1 = Onlyl

> % OnlylIl



3. % BothIandII

4. + Neither I nor II

Question Number : 45 Question Id : 630680221140 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

2786 Tarsofiod DEN) [@rEDE DAOKH H02080D & 1§08 FES KB 87

L a0 200 0 $O30hed JEnsos [FrdNE A B,

I (DAVS0 12 [ZPdad e G ow.

Options :
IR (B
5 % I S

3 % | 08N 11 e Bocar

4 v | T B Il 5 08 525

Question Number : 46 Question Id : 630680221141 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Atticle 19 of the Indian Constitution provides for the protection of certain rights. Which of the following is included in

it?
1. Freedom of speech and expression.
IL. To form associations or unions.

III. To organize a strike and lockout.
Options :

1 % OnlylI

5 « OnlyIandII

3 % Only ITand III

4 % LIIandIII

Question Number : 46 Question Id : 630680221141 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Correct Marks : 1 Wrong Marks : 0

276 TamsofoS R @680 19 §R) N0R T Eakh @0dW0d. & §od TBS
28 @S T8 3God?

L &S RriB085:0 B0 erangad D).
I QoRen B Horod Jom)En Bahdo.

Il 29507 DBOM O FHON AGTFOTE,

Options :

IR (B



5 o | DB I e SFBID

3 % 11 SHBAW M en S

4 % 1, 11 08a% i

Question Number : 47 Question Id : 630680221142 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the chronological order (first to last) of the following events with respect to the Indian Constitution?
L. The preamble was amended.
II. Article 21A was added to the Indian Constitution.

I11. The voting age was reduced from 21 to 18.
Options :

| v LILII

5 % LILII

3 % OLILI

4 % ILLII

Question Number : 47 Question Id : 630680221142 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0

2r0¢s Treriomad H020600) & 1508 Nobde seEdrdardo @nde Dok D8
68) a0e3?

L 10338 dadBoiadod.
I @A&%380 21A 278 Tk TEWEA.
I 2,60 SR SoH0) 21 Do) 18 § dfoviadod.

Options :

1w LN
o % L1, 1
3 s ML
4 % AL 1

Question Number : 48 Question Id : 630680221143 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Arrange the following provisions with respect to the order (first to last) of their articles in the Indian Constitution?
[ Organisation of village panchayats
II. Organisation of agriculture and animal husbandry

[II. Uniform civil code for citizens

Options :

|« LILI

5 % LILII



3 % OLILI

4 % OLLII

Question Number : 48 Question Id : 630680221143 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

i Tamofod el @B¥8ero Ty 1500 (Rude ok AS8 S84E Nouodod &
806 Quodded Jomty Tahod?

L T Hoeradde Hod
I SgeSarobho HBk e doY
I e ahrero o §6&

Options:
1 ¢ LN
o % LI,

3 s ML,

4 % L1

Question Number : 49 Question Id : 630680221144 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0

As per the Indian Constitution, the Executive power of the Union is vested in the

Options :

1.« President

> % Speaker of the House of the People

3. % Prime Minister

4. % Chief Justice of India

Question Number : 49 Question Id : 630680221144 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

2 Tarsofio 0500, 300 Nareg gy ST @dsdo 8§ adadod.

Options :

| v TR0
, % ST O 280

3 x DT HOE

4w 208 (DS 5050

Question Number : 50 Question Id : 630680221145 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding Vice-President of India?

I. The term of Vice-President of India is Six year.

II. The Vice-President of India is ex officio chairman of the House of the People.
Options :

1 % OnlylI

> % OnlyII

3. % BothIandII

4.« Neither I norII

Question Number : 50 Question Id : 630680221145 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

27 RTINS Ho0BOD & 1808 T3S B (DELS AA?

. 2r8eh GNT RSB NANTO0 6 0N T=ew.

I 28 GHT (RN S D25 Ty I5) N> TEIS.

L

Options :

x| ST

5 x I SSD



3 % | 083 I e Bocar

4¢ 1 0 B Il 552 D8 570

Question Number : 51 Question Id : 630680221146 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Arrange the sequence according to the ascending order as per the number of following articles of the Indian

Constitution.
[ Language to be used in Parliament
II. Disqualifications for membership of the Parliament.

III. Procedure in Parliament with respect to estimates.

Options :
1 % LILII
5 % LILII

3 v ILILI

4 % OLLII

Question Number : 51 Question Id : 630680221146 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



2r8¢h Ter08085°R) & 808 o8 a¥, wo¥dme dop; Psdo sfirn [_éclSJDC’SB
@308,

. 27008 EaarRomd)s
I 200ty H2iE 8 esdsen

. @oTed 5020600 FERotns’ (9§

Options :

1o Lo,

4% L1

Question Number : 52 Question Id : 630680221147 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding electoral bonds with respect to the Indian political system?

[. The Government of India has notified the Electoral Bond Scheme in 2015.

I1. The Electoral Bonds are valid for fifteen calendar days from the date of issue.

I11. All the political parties are eligible to receive the Electoral Bonds.

Options :

1 = Onlyl

5  OnlylIl



3 % Only Iand III

4 % Only II'and ITI

Question Number : 52 Question Id : 630680221147 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

2788 Tah S50 H020800 JOFES arofedy Hoaodod) & §od F8S NB
D8 67

L rdé (350 20158 JoFES ol HESR) B T0A.

I Q0SS 2rofien 0 TS BO K06 JEFD FBodE Fre S8% Teverey
)TN,

I, @) T8 ey JoFd arodd HEBoSEAE een.

Options :

x| STSD

5 o I S
3 % | a8
4. % 1l D8 I

Question Number : 53 Question Id : 630680221148 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Correct Marks : 1 Wrong Marks : 0

What is the correct order (first to last) of the number of following articles of the Indian Constitution?
[. Qualifications for appointment as Governor
II. Conditions of Governor's office

[II. Qath or affirmations by the Governor

Options :

| v LILII

2. i’ ]:[I ]:[-.I

3 % ILLII

4 % LILII

Question Number : 53 Question Id : 630680221148 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

2786 TersofoR) & 1500 @B 8BS 1550 BdE Lod DI S88) J6?

. 5585 ACFHITRE edehen
I 365830 sTrsead N
Il 636)5 T (Dre0 Bor dyaibamen.

Options :

1w Lo,

5 s ML, 01,



Question Number : 54 Question Id : 630680221149 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following part of the Indian Constitution mentions the relations between the union and the states?

Options :

1. % Part VII

2. % Part IX

3.« Part XI

4. % Part XII

Question Number : 54 Question Id : 630680221149 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

2786 a0l R & (808 O derio 0/S BN TR g HoR0Te HdoD
OTR0T0E?

Options :

1 % rfo Vi



5 % arfio IX

53 v 2o X

4 % 22rio Xi

Question Number : 55 Question Id : 630680221150 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following articles of the Indian Constitution mentions provision related to the Panchayats?

Options :
1.« Article 243-2430
2. % Article 243-243P

3 % Article 242-2420

4. % Article 242-242P

Question Number : 55 Question Id : 630680221150 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



27 TereolioR) & 808 o) 904800 HomToheed 02080 d20dden
a7 QW?

Options :

| v OOF500 243-2430

5 x OIS0 243-243P

3 x OIS0 242-2420

4 % @OEBI0 242-242P

Question Number : 56 Question Id : 630680221151 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

According to the Article 243 (Z7) of Indian Constitution, the maximum number of directors of a co-operative society
shall not exceed

Options:

1_5;3?

2. % 1l



Question Number : 56 Question Id : 630680221151 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

2788 Ters0lod Q) @08860 243 ) 580, TS Hodo BuE, (8% B0 Hows
Q) DOTIETFCCD.

Options :

1. % 7

2. % 11

3 % 15

4.« 21

Question Number : 57 Question Id : 630680221152 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

The Mughal emperor appointed the company as the Diwan of the provinces of Bengal in
Options :

1. % 1763

2 & 1765

3. % 1767

4 % 1769



Question Number : 57 Question Id : 630680221152 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

20508 S0 Lo S Bomd (TR0 BTT AcH0T.

Options :

1 % 1763

5> « 1765

3 % 1767

4 % 1769

Question Number : 58 Question Id : 630680221153 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

The East India Company introduced which of the following land revenue systems in 1793?

Options:

1 % Ryotwari settlement

2 % Mahalwari Settlement

3 % Subsidiary alliance Settlement



4. + Permanent Settlement

Question Number : 58 Question Id : 630680221153 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

&R0AAT {00 17935 & 1800 T8 & dr BIT: S50 (NI RE06?

Options :

| % D50 S350

¥ - o
5 5 S0TEr S35

3 x OO Fredd HgdP

W,
4V T3 55 2950000

Question Number : 59 Question Id : 630680221154 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding tribal leader Birsa Munda?

I. The British arrested Birsa Munda in 1895.

II. The British hanged Birsa Munda in 1897.
Options:

1 & Onlyl



> % OnlylIl

3 % BothIandII

4. % Neither I nor I

Question Number : 59 Question Id : 630680221154 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

AB2S orohdich Hor) Snomd D000 & (808 FES SBG 67

L DS & 18958 Hom) o @By BT
I DER &5 18975 Hory dwomd GO8T.

Options :
PR IR (S5
5 % I S

3 % | 08N 11 e Bocar

4% 1 50 S Il 57 08 525

Question Number : 60 Question Id : 630680221155 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



What is the chronological order (first to last) of the following events with respect to Indian history?
[. Christian missionaries are allowed to function freely in India.
II. Lord Dalhousie becomes governor-general of India.

[II. Mangal Pandey was hanged.

Options :

| v LILII

2' ® ]:[I ]:[-.I

3 % LILII

4 % ILLII

Question Number : 60 Question Id : 630680221155 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

2rOSTE OB H020000 S (500 N0t soEsrhrdo @i Mod DN
680) ade3?

L (306 dBen rESTHS DIKYT SNBOHERE @BoNFW.
I erd $S'0 rdSTTNE (1580 B8O edaEdh.

I, 08 FOBR EOTE.
Options :

1w Lol

5 s ML, 1,



Question Number : 61 Question Id : 630680221156 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is correct regarding events of Indian history and their year?
1. Hindu College was established in Benaras: 1781

II. Wood’s Despatch: 1854
Options:

1 = Lonly

5  only

3 % BothIandII

4. % Neither I nor I

Question Number : 61 Question Id : 630680221156 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



2P0 90 NBC 8 058RS N0R0A0DY NomeNe Hoaodon) & §od
2800 IO HBNG?

L SPodr $vTe BdRS Yaotadod: 1781

I @) GaF)D (2Er5TF): 1854

Options :
x| ST(BD
5 o I S

3 % | 083 Il e Bocar

4 % 1 50 S Il 570 08 5%

Question Number : 62 Question Id : 630680221157 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Correct Marks : 1 Wrong Marks : 0

Arrange the following organisations with respect to the city of their establishment, from south to north.
L. The Brahmo Sama
II. The Prarthana Samaj

[II. The Veda Samaj

Options:

| % LILII

5w ILILI



3 % LILII

4 % ILLII

Question Number : 62 Question Id : 630680221157 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

B850 h0d GBI0 8% 3 TN Mo do20dow) F 1§08 0RO TP
Dok,

|, (272 Q0
I (2P0 dedrz0

I 3¢ Deraso
Options:

1w Lo,

5w I, L

Question Number : 63 Question Id : 630680221158 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following personalities with respect to modern history and their field.

Personality Field
William Scottish
I 1
Jones missionary
Henry
Scholar of
IT | Thomas 2 .
Sanskrit
Colebrooke
William Judge at the
111 3
Carey Supreme Court
Options :

1 % I-3,II-1, III-2

5 % I, 112, TII-3

3 % I, 113, 1012

4 1-3,1-2.1II-1

Question Number : 63 Question Id : 630680221158 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0



&3¢E 981 NBAN T DN Tad SR8 Ho20dow) & §od S0k 2808004,

388 AT Boko

DD BT TR TG

70 TR FOars| 2| dod® Nodeh

00 58 3| 08 7rsahekrd

Options :

1w 13, 11, 102

> w -1, 11-2, 1l-3

3 % -1, 113, 112

4w -3, 11-2, 1lI-1

Question Number : 64 Question Id : 630680221159 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following is National Mission on Financial Inclusion launched by government of India?

Options:

1« Pradhan Mantri Jan Dhan Yojna (PMJDY)

> % Rashtriya Swasthya Bima Yojana (RSBY)

3 % Pradhan Mantri Mudra Yojana



4. % National Social Assistance scheme

Question Number : 64 Question Id : 630680221159 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

& (808 TS 08 TOED TAch DA 2r8S [HS0 FE0DONNE JE?

Options :

| v DTS Do BSOS A3rad (PMJIDY)
L TLROD 505 DA TS (RSBY)
3 % DTS SOE@ ST e

4 % ZA0H B HHFAH HSEo

Question Number : 65 Question Id : 630680221160 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

In 2019, which of the following accounts for largest share in livestocks in India?

Options:

1. # Cattle and buffalos

5>  Poultry



3 % Sheep and goats

4 % Pigs

Question Number : 65 Question Id : 630680221160 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

2019, 2r8STH0S R HHI0NAS & 1§06 TS IO wbidé Ferdd {08 God?

Options :

| x BN DO ATew

5 v 2O Ty

5 % (B0 HBAM sen

4 % DO0CDED

Question Number : 66 Question Id : 630680221161 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

With respect to the Indian economy, the terms Shishu, Kishore and Tarun are related with

Options :

1 « Pradhan Mantri Mudra Yojana



> % Atfal Pension Yojana
3. % Stand Up India Scheme

4 % Pradhan Mantri Jeevan Jyoti Bima Yojana

Question Number : 66 Question Id : 630680221161 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

2r5eh @308 95308 N020A0Y), 3D, S5 BN SR drren _ § d020d00d.

Options :

| ¢ DTS HoE@ ST OFresS
5 % OO0 DIS A

3 % YO& ®D YORAT HEHEO

4% TS 0B 23S ShS D T

Question Number : 67 Question Id : 630680221162 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

The Government of India introduced a new scheme called Saansad Adarsh Gram Yojana (SAGY) in



Options :

1 % 2012

2« 2014

3 % 2016

4 % 2018

Question Number : 67 Question Id : 630680221162 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

2708 [DeDd10 S a0 e85) (M Brad $AGY) &3 §8 Hds)

Options:
1. % 2012
2« 2014

3 % 2016

4 % 2018

Question Number : 68 Question Id : 630680221163 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Correct Marks : 1 Wrong Marks : 0
National Bank for Agriculture and Rural Development (NABARD) was set up in

Options :
1. % 1972
2 % 1976

3 v 1982

4 % 1986

Question Number : 68 Question Id : 630680221163 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

5 TR0 305 96 8o 0 06 ErdS BIOTR0E (NABARD) FH0uR300.

Options :
1. % 1972
2 % 1976

3 v 1982

4 % 1986

Question Number : 69 Question Id : 630680221164 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is correct regarding farm product selling areas and their region?

L. Apni Mandi - Punjab

II. Rythu Bazars — Andhra Pradesh
Options :

1 % OnlylI

> % OnlyII

3.« BothIandII

4, % Neither InorII

Question Number : 69 Question Id : 630680221164 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Sgarod G )Be A NETe SHiah T8 (FromRs H020800) & 508 2808 )8
NOIVAY

| ey 08 - Hoed

I 3% 2 - 80935

Options:

IR (S B



5w I S

3 ¢ | Q08A Il e Bocar

4 % 1 50 S Il 570 08 5%

Question Number : 70 Question Id : 630680221165 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

As on March 2023, The Mahatma Gandhi National Rural Employment Guarantee Act 2005 promises how many days of

guaranteed wage employment to all rural households who volunteer to do unskilled manual work?

Options:
1. % 90
2.+« 100

3 % 110

4 % 120

Question Number : 70 Question Id : 630680221165 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



578y 2023 T8, ey mod e [mde GO 5D 900 2005 Fyeso BATS A

DONENE Q53000 o) STy @) [mebe denowred) IR Gze ey Gard
T J8T8 D BV0E?

Options :

1. % 90

5> « 100

3 % 110

4 % 120

Question Number : 71 Question Id : 630680221166 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Match the following five years plan and their targeted growth rate.

Five-vear plan Target growth rate
I | Third Plan 1 |5.6%
IT | Fifth Plan 2 | 4.4%
IIT | Sixth Plan 3152%
Options:

1. % I-3,II-2, 1II-1

5 % 12,111, 1II-3



3 % I 113, 1012

4 o I-1,11-2, III-3

Question Number : 71 Question Id : 630680221166 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

& 1808 HoBRY (DT ¥ HBAN 83 ©F; S0 B 2ddSNod.

HoBSE 1D PE| | 0¥y 398 Tew

|| Sarched |DerPE | 1]5.6%

I 28 (DT 2|4.4%

e383s (DErPE 3(5.2%

Options :

1w -3, 12, 11

> w12, 1I-1, 11-3

3 % -1, 11-3, -2

4w 1,12, 113

Question Number : 72 Question Id : 630680221167 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Annual Status of Education Report (ASER) 2022 was released by

Options :

1 % Ministry of Education

2« NGO Pratham

3. % Swades Foundation

4. % Ministry of Women & Child Development

Question Number : 72 Question Id : 630680221167 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

08 DT VY AROE (ASER) 2022 & dAe TN .

Options :

| & T§ DOBSS T

, » NGO ESlaly

3 x VBT FOBAS

4 % 0T & FDH 0DBSYQ NOBSS TR



Question Number : 73 Question Id : 630680221168 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

In September 2022, the Supreme Court has ruled that all women, regardless of their marital status, were entitled to

benefits of safe and legal abortion till

Options :

1 % 18 weeks of pregnancy

> % 20 weeks of pregnancy

3 % 22 weeks of pregnancy

4 24 weeks of pregnancy

Question Number : 73 Question Id : 630680221168 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

00 2028, Hre0dsr, 78 rsré W88 Hoaodo BHo, 68
DOESDS HOa SR @rdd ParaTed ado @l MHoFD 85000,

Options :

|« 18 U #8)0

, » 20 O HE)0

3 x 22 O #8)0



4 v 24 T §5)0

Question Number : 74 Question Id : 630680221169 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

In October 2022, which of the following Indian organization has announces "pay equity policy"?

Options :

1. % National Green Tribunal

> w DBharat Heavy Electricals Limited

3.« Board of Control for Cricket in India

4 % Oiland Natural Gas Corporation

Question Number : 74 Question Id : 630680221169 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

9525 20225, 808 TES O erdSAch HoR B &8s Fedrd (HEBoD0E?

]

Options:

1. % BAIS L_ﬁ(% @331}_5355

, % FES T3 Jo§ES) OWBG



;v 50 &9 50(5S H6 838 s 20&AST

4 % SONO @0&% TS TR0 =EIBAS

Question Number : 75 Question Id : 630680221170 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

In India, Renke commission was associated with

Options :

1 % promotion of higher education in regional languages
5 « denotified, nomadic and semi-nomadic tribes

3 % strengthening of the anganwadi system

4. % mental health assistance

Question Number : 75 Question Id : 630680221170 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

2r3e53306Y, BoE EDAS D B85,

Options :

| % B0 Bfélf‘j ) ed D5 (%500



, v BIBDG, Jowrd HoA >EE dowrd Sifew

5 x WOUSTEG Heddd S Do TaAhko

4 x STORE By HFao

Question Number : 76 Question Id : 630680221171 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Taliperu river is the tributary of which river flowing in Telangana?

Options:

1 % Wainganga
> % Tungabhadra
3. % Kirishna

4. « Godavari

Question Number : 76 Question Id : 630680221171 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

SOOTRS (PITF0D 2 IO8 TOE & 2.8 GHIO?



Options :

|« DoforT

5 x SO0OKZE

5 % SO

4.« ﬁGCTc;S[?J

Question Number : 77 Question Id : 630680221172 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which district of Telangana has the highest deposits of Uranium?

Options:

1 + Nalgonda

2 % Medak

3. % Nizamabad
4 % Karimnagar
Question Number : 77 Question Id : 630680221172 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Correct Marks : 1 Wrong Marks : 0
SO SBACH0 DT Tren eSS0 &) 20 dE?

Options :

| v OF0ck

5 % S8

3 % 2O

4 % 880585

Question Number : 78 Question Id : 630680221173 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

The Telangana State emerged as the 20 and the youngest State in the Indian Union with a geographical area of

km?.

Options:

| % 113,077
5 » 112,077
3 % 111,077

4 % 110,077



Question Number : 78 Question Id : 630680221173 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

BOOTE U710 2 THDE |Pos08 8% ohrdahdS 298 oo @S Sy
Hahan) e TRor ©s8d0008.

Options :

1 % 1,13,077

5w 1,12,077

3 % 1,11,077

4 % 1,10077

Question Number : 79 Question Id : 630680221174 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

What is the percentage of Telangana in the geographical area of India?

Options :

1.« 3.4%

2 % 4.4%

4. % 0.4%



Question Number : 79 Question Id : 630680221174 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

253553305 THRE A0S Berome TS0 Joeh?

Options:

1 & 3.4%

2. % 4.4%

3. # 5.4%

4. % 6.4%

Question Number : 80 Question Id : 630680221175 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

As per Telangana state statistical abstract released by Telangana State Development Planning Society (TSDPS),

Planning Department - 2021 what is the density of the population of the state of Telangana?

Options:

1. % 342 per km?

5 % 332per km?



3 « 312 per km?

4 % 322 per km?

Question Number : 80 Question Id : 630680221175 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Boome Tl o050 HEFdE domo Booma P BenRod TN FRedTsops)

D98 dero - 2021 O Tad Boore o Hrod SolTo Hedo Seomn T

20 2F0[0¢ oe?

Options:

1. % km? § 342

> % km? § 332

3 v km? § 312

4. % km? § 322

Question Number : 81 Question Id : 630680221176 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

As per Telangana state statistical abstract released by Telangana State Development Planning Society (TSDPS),
Planning Department - 2021 what is the sex ratio (females per 1000 males) of rural areas in Telangana?

Options :



1 & 999

5> % 989

4 % 969

Question Number : 81 Question Id : 630680221176 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Bo0omn TR @50 (NTPE Hoo Boome PO BenRod JNo FRe-Ts0rs)
D8 dertio - 2021 Mebde DR Boome T dEod dolfiro (N80 Boomead
me [Tomod Oof DS (1000 008 HEeH do Vey) Jos?

Options :
1.« 999
2 % 989

3 % 979

4 % 969

Question Number : 82 Question Id : 630680221177 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0

As per Telangana state statistical abstract released by Telangana State Development Planning Society (TSDPS),

Planning Department - 2021, what is the female literacy rate of the state of Telangana?

Options :

1 % 67.99%

7« 58.0%

3 % 77.99%

4 % 87.99%

Question Number : 82 Question Id : 630680221177 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Boome T(a @S0 (Herdé Yoo Boors N BseonRod TR FRE-Ts0RS)
TS dertio - 2021 e Do Beore Tg Kerod Nodro (Hsdo, Boomn T
eree 0f TR Bh oh?

Options :
1. % B67.99%
2.« 58.0%

3 % 77.99%

4 % 87.99%



Question Number : 83 Question Id : 630680221178 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Read the following and select the correct statement(s):
A: The water source for Nagarjunasagar Hydroelectric Project is Krishna river.

B: The water source for Nizamsagar Hydroelectric Project is Godavari river.
Options:

1 = OnlyA
5 % OnlyB
3 « BothAandB

4. % Neither Anor B

Question Number : 83 Question Id : 630680221178 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

& (808 T3 BAR, DB (DELIS(E)D o 0!

A: TTRDITED BOJS (TFEE 3 3K Ear SA.
B: 2500 OIS |TTFBH A3 I8B Frrds S,

Options :

| x A SIS



, % B @D

3 ¢ A BA B Bodr

4% A B B OO 5%

Question Number : 84 Question Id : 630680221179 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Read the following and select the correct statement(s):

A: The Telangana state government proposed to undertake the development of three greenfield airports at Jakranpally
(Nizamabad), Palvancha (Bhadradri Kothagudem), and Mahabubnagar.

B: The Telangana state government proposed to set up three brownfield airports at Mamnoor (Warangal), Basant Nagar
(Peddapalli) and Adilabad.

C: As per the State Budget 2022-23, 7822 crores has been allocated towards the National Health Mission.

Options:

1« ABandC

2. % BothBandC

3 % BothAandB

4 % OnlyC

Question Number : 84 Question Id : 630680221179 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

& 1808 T 962, MBS DLV JdothEod:

A Bo0me T (020850, ZFOR0 Nerrerd), ol B FirRo)
SiFarSi5S Srdh AN Ariore @diydn THFO (HSTFEod0d.

B: BOOTEH T3 (NS0 SFANSTE (SE0KS), 2008 B (AFHE) SHdaky sderrsS
S (TR0 ANTIHOTOs JomEy Bred (HSFrEodod.

G U A6 22223 (H560, 2rdah By DA W2 Fey Feranomd.

Options :

1« A B D8 C

5 % B 08aw ¢ Bodr

3 % A 0OA B Bodsr

4 % C ST

Question Number : 85 Question Id : 630680221180 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following national highways with their location:

National Highway in Telangana Location

A.NH30 1. Kalyan-Nirmal Road

B. NH44 2. Hyderabad — Vijayawada

C. NHG65 3. Hyderabad -Bangalore

D. NH61 4. Vijayawada — Jagdalpur
Options :

| % A-1,B-2,C-4,D3

, % A-2.B-1,C-4,D-3

3 v A-4.B-3,C-2,D-1

4 % A4,B-1.C-2,D-3

Question Number : 85 Question Id : 630680221180 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Correct Marks : 1 Wrong Marks : 0

& (808 270D STTHe T3 (Tosos 2eToHok:

SeomereS 2redad S8 GOTe)

A. NH30 1. $~:5-08:0 85

B. NH44 2. OTrH - 2230 ch
C. NH65 3. rdTrerd -BolErd
D. NH61 4. Qeodarch - 23ider b

Options :

1.



% A-1, B-2, C-4, D-3

5, % A2, B-1, C-4, D-3

5 » A4, B-3, C-2, D-1

4 % A-4, B-1, C-2, D-3

Question Number : 86 Question Id : 630680221181 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Read the following and select the correct statement(s):
A: Kavijanasravam was written by Malliva Rechana.

B: Gokarna Chandassu was written by Baddena.
Options :

1 OnlyA

> % OnlyB

3 % BothAandB

4. % Neither Anor B

Question Number : 86 Question Id : 630680221181 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Correct Marks : 1 Wrong Marks : 0
808 a7e30 WA, DB (DIErN(@) Do od:

A EDzr 30050 ED0DGEE DA Td.
B: 80 508030 SDoDSE 2BS.

Options:

A ST

1.4

, % B @D

3 % A OA B en Bodkr

4% A SR B B 50 OO 5%

Question Number : 87 Question Id : 630680221182 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the correct pair(s) from the following:

Writer Book

A. Charigondi Dharmanna | Chitra bharatam

B. Dasaradhi Dhaasa Bodha

C. Bammera Pothana Veerabadra Vijayam

D. Gona Budha Reddy Ranganatha Ramayanam
Options :

1. % BothAandC



2. % BothAandD

3 Only A, Cand D

4. % A B.CandD

Question Number : 87 Question Id : 630680221182 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

808 73 OB 2S(@)D Dot od:

S5006% HREO
A SBFF0G S8y | RIS 2rdeo

B. 408 o S

C. 293025 Pe5S DB Dz3oho

D. f% 200G Sotimrd Tmdradeo

Options :

1 % A DBAW € en Todkr
> % A DBCA D en Todkr

3 v A C HBC™ D e S

4 % A B, C 083 D



Question Number : 88 Question Id : 630680221183 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Chindu Bhagavatham which is performed widely across Telangana is a variant of

Options:

1 « Yakshagana

2. % Kathakali

3. % Odissi

4. % Kathak

Question Number : 88 Question Id : 630680221183 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

SO0 BOSEP AVYSOT (NN 0T Dok arfddo _ aug) draroddo.

Options :
1 v ODEmdo

5 % S8

3 % 20



o 855

Question Number : 89 Question Id : 630680221184 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which Jain Temple in Telangana is 2000 years old and located in Kolanupaka village in Nalgonda district?

Options :

1 % Jaishankar Bhupalpally
5>  Kulpakji
3. % Jamalapuam temple

4 % Kotagullu

Question Number : 89 Question Id : 630680221184 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

3F0¢% 2SR Foraré oS 2000 HoSITe TE B Do I&?

Options :

23085 rarond

1. %

o,
) o K028



3 % BOONADO DO

4 x Sethen

Question Number : 90 Question Id : 630680221185 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following heritage sites with their location:

Heritage site Location/district
A. Chowmahalla Palace 1.Warangal
B. Bhadra Kali Temple 2.Alampur
C. Vishwa Bralima Temple | 3.Nizamabad
D. Khilla Ramalayam 4.Hyderabad
Options:

| % A-4,B-2,C-1,D-3

, % A-3,B-1,C-2,D-4

3 v A-4.B-1,C-2,D-3

4 % A2,B-1,C-4,D-3

Question Number : 90 Question Id : 630680221185 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0
& 808 TreHE OO @ &) 300 23éEoH0k:

TS5 (DTFO Epellelay

A. T DT SR 108000

B. 258559 eseadHho 2,900

C. DES (257 Tare>ANO | 3.027057r 8

D. DU TreADO 43785028

Options:

1. % A4, B2, C-1, D-3

, % A3, B-1, C-2, D-4

5 » A4, B-1, C-2, D-3

4 % A2, B-1, C-4, D-3

Question Number : 91 Question Id : 630680221186 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Read the following and select the correct statement(s):

A: Bhongir Fort was built by the Western Chalukya ruler Tribhuvanamalla Vikramaditya VI.

B: Bhongir Fort was built in the 1ot century.
Options :

1 « OnlyA



> % OnlyB

3. % BothAandB

4. % Neither A nor B

Question Number : 91 Question Id : 630680221186 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

& (1808 B WA, B 1DELN©)D JothEod:

A 205008 T D3 wehEs reodien |20 ESrdS: VI A80e.
B: 20293988 €6 125 dm20S AB02&08.

Options :

| A SIS

, % B @D

3 % A NBCH B Bodr

4% A B B DO 5%

Question Number : 92 Question Id : 630680221187 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Correct Marks : 1 Wrong Marks : 0

Medaram Jathara is a tribal festival of honouring the goddesses celebrated in the state of Telangana in district.

Options :

1.« Mulugu
5 % Jogulamba Gadwal
3. % Bhadradri Kothagudem

4w Jayashankar Bhupalpally

Question Number : 92 Question Id : 630680221187 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

DEdo 288 9z Soorn TRod 20 28003 addr Tsdod T8d03
Bz Do,

Options :

1. ¢ c‘ﬁl)@&ﬁ}

, x Bhero Korsd

3 & BTG FETo

4 % 23053080 raredd)



Question Number : 93 Question Id : 630680221188 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Nagoba Jatara is a tribal festival held in district of Telangana.

Options :

1.+ Adilabad

2 % Nizamabad

3. % Medak

4 % Warangal

Question Number : 93 Question Id : 630680221188 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

e 28 BeomreaeS 2y 2380 A8 Do,

Options:
1 ¢ eabererd
2 % 2T

3 % 0S8

4% SEOKS



Question Number : 94 Question Id : 630680221189 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Dhokra art which involves the most ancient Lost Wax tradition, practised from at least 2000 years ago is also known as

Options :

1.+ Bell metal craft

2 % Misch metal craft

3 % Copper metal craft

4. % Gold metal craft

Question Number : 94 Question Id : 630680221189 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

9506 HoSSHY SeF) L8A0D Ty Sord T Hoord) 08 &) S
49, 4000 2000 0BT 1§80 K0 SIB0TAGIA, BN o) 7@ @0trd.

Options :

o B0 DS (5



, x O SO (579

. D S (579

Question Number : 95 Question Id : 630680221190 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Read the following and select the correct statement(s):

A: Finance Minister T Harish Rao, while presenting the Budget, announced 3,497 crores for the ‘Mana Ooru Mana

Badi’ scheme for 2022-23.

B: Telangana government allocated 16,043 crores to the education sector for 2022-23,

Options :
1 % Only A
> % OnlyB

3.« BothAandB

4. % Neither A nor B

Question Number : 95 Question Id : 630680221190 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



& 1800 T80 96, OB (D) dothEod

A e08 0@ & FOTTY) aBOD BT, 2022-23 N0SBITRE WS & D A
D58 23497 S (D80T,

B: 8O0 (DASB50 202223 H0SB)TNE A oS 16,043 §E0 Seranonod.

Options :

| x A SIS

, % B @D

3 ¢ A BA B Bodsr

4% A B B OO 5%

Question Number : 96 Question Id : 630680221191 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following schemes with their description:

Scheme Description

A. Mission Kakatiya | 1. 1.30 lakh km stretch of pipelines

B. Mission Bhagiratha | 2. 24,600 crore sanctioned in 2015-16 and 2016-17 budgets

C. Shaadi Mubarak 3. One nutritious meal every day to pregnant

D. Arogya Lakshmi 4. One-time financial assistance of 21,00.116

Options :

| % A-1.B-2,C-4,D-3

5 v A-2.B-1,C-4,D-3



3 % A-2.B-1.C-3,D-4

4 % A4,B-1,C-2,D-3

Question Number : 96 Question Id : 630680221191 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

& 1800 HEFON 38 H0w0HONS B Ddded BeéEohodk:

Jh¥o FARNTel
A DAS TESAH| 1. 130 ©F© 8.2 DHBD

B. S 2SR5 | 2. 20151668 OGN 2016-17 2BE 4,600 E& hoeS

C. arG) SwerdS |3. K888 NadE PFisod §rdd S5d0

D. &sO0fie ©8; |4 2308 100116 &308 ko

Options :

1. % A1, B2, C-4, D-3

5 » A2, B-1, C-4, D-3

5 % A-2, B-1, C-3, D-4

4 % A-4, B-1, C-2, D-3



Question Number : 97 Question Id : 630680221192 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Read the following and select the correct statement(s):

A: In the SDG goal ‘Gender Equality’ Telangana has scored 41 points in the SDG index 2020-21.

B: In the SDG goal *Zero Hunger’ Telangana state has scored 50 points in the SDG index 2020-21.

C. In 2019-20 Telangana state has been ranked third in the Sustainable Development Goals (SDGs) index.

Options :

1« ABandC

2. % BothBandC

3 % BothAandB

4 % OnlyC

Question Number : 97 Question Id : 630680221192 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

& 1500 30 AR, ABN (PSS dothEod:

A 5DG 0850 Dol ders 108 Beorre SDG 0TS 2002165 41 FoNOLY FrEOD0D.

B: 5DG ©%:0 ‘@808 w0HB0n T8 Nopg 0 Beom TR0 S0G Ardé 2020216
50 2PON0LY I GOT0B,

C. 2018208 BOOTE TR0 VGG BAS5HD OFen (30Gs) BOTFEYS surdhsd FesoS
QO006.

Options :



1« A B 08w C

5 % B 0Odln C Bodr

3 % A BA B Bodsr

C S50

Question Number : 98 Question Id : 630680221193 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Arrange the following schemes of Telangana government in the chronological order (launch year):
A.T-Hub

B. Shaadi Mubarak

C. Rythu Bandhu

D. Mana ooru - Mana badi

Options :

1 v B.ACD

, %« AB,C.D

5 %« AC.D.B

4 % B.D.C.A



Question Number : 98 Question Id : 630680221193 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

SO0 (2206850 0%y 68 1808 HPTON FOENFRTE0 (20025 M05e)00)
@00 )06

A T-oFD
B. a0 swards
C. Db 2060

D. a0 & - D
Options :

1 v B A C D

5 % A B C, D

;% A C D B

4% B, D, C A

Question Number : 99 Question Id : 630680221194 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Select the correct pair(s) from the following:

Scheme Launch year
A. T-Hub 2015
B. SoFTNET 2016

C. Aasara pensions | 2014

D. Arogya Lakshmi | 2015

Options :

1. % BothAandC

2 % Both AandD

3 % OnlyA . BandC

4 v AB,CandD

Question Number : 99 Question Id : 630680221194 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S HBS @)D JotHFod:

DPH¥o ErE0DO0NS Doded b0
A T-ored 2015
B. &rea®d 2016

C. &8IT° DO | 2014

D. &8¢ o83 2015

Options :



1 % A DBAW ¢ en Todkr

> % A 0BaA D ew Bodsy

3 x A B DBAD € en S

4 v A B, C 083 D

Question Number : 100 Question Id : 630680221195 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Read the following and select the correct statement(s):
A: Hyderabad was ranked second among the top 20 global cities in JLL's City Momentum Index (CMI) 2020.

B: The Hyderabad airport is India's first Pharma Zone' - an exclusive terminal for handling temperature-sensitive
pharmaceuticals.

C: As of August 2022, the total installed power capacity in Telangana was 18029.39 MW as per Telangana State Report
2022(IBEF).

Options :

1« ABandC

2 % BothBand C

3. % BothAandB

4 % OnlyC



Question Number : 100 Question Id : 630680221195 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

808 30 AR, OB (@)D dothEod

A UL T8 D8 Fuoto 2035 (o) 20208 20 (3003 el S 3oy Bods
08 DDA,

B 2P0 308 3nde o 380 OTER aFrdoho - Gl fe- o6
FTRrEded Aderodamng (D80 BONO.

C. sy 2022 738, Boore T ARG 02@oors P NG - BEF) (350
Boomed Fraotads wdo Adue 30 1802939 MW

Options :

1 ¢ A B D8 C
> % B B € en Bodkr
3 % A OC B e Bodkr

4 % C SIS

Question Number : 101 Question Id : 630680221196 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following schemes in the decreasing order of average yearly maximum monetary benefit:
A. Rythu Bandhu

B. Kalyana Lakshmi

C. Aasara pensions

D. Dalit Bandhu

Options :

1 % A>B>C>D

2.v D>B>A>C

Question Number : 101 Question Id : 630680221196 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

diew 788 K0 108 (NRrEN0 srrdor 808 Dok WA & 1§00 HETOD
@e0,)08:

A Ded 206
B. $ymeea§)
C. 83T DO,

D. 39¢ 2009

Options :

1% A>B>C>D



v D>B>A>C

3 B>C>D>A

4% C>B>A>D

Question Number : 102 Question Id : 630680221197 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Shadi Mubarak scheme is launched by Telangana government for Muslim girls who have completed 18 years of age at

the time of marriage and whose parental income does not exceed annum

Options:

1. % %4 lakh

2. % %3 lakh

3 % Z1 lakh

4.« %2 lakh

Question Number : 102 Question Id : 630680221197 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

DTET AHOTNE 18 Moo od, BOX0[he BIaHo N0sS TR VOIS
S000 2708 §X0 Boome (NS0 IO Sverds HEsR) [éodood



Options :

1 % 4 ofew

5 % I3 ©Fexn

4 v 32 ©Fen

Question Number : 103 Question Id : 630680221198 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Read the following and select the correct statement(s):
A: The Dalit Bandhu scheme provides a one-time grant of 210,00,000 to the beneficiaries.
B: Rythu Bandhu scheme provides a grant of 25,000 per acre per season.

C. Arogya Laxmi scheme provides one nutritious meal every day to pregnant and lactating women and children below
the age of six.

Options:
1. % BothAand B
2 % Only A

3 % BothAandC

4 v A/BandC



Question Number : 103 Question Id : 630680221198 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

& (808 T30 6, A3 D8OOI dotEod:

A 98 200 HB%0 o 0DTRON 230 $10,00000 O o= @HE0O.
B: D¢ 200 DB%0 108 A% 5T 5,000 ABA SO0,

C. a8z @8 Hd%0 KBymen B wrdoden HBAL B8 Nodsre ot S8yd
SO0 ) doed (K8 Bz wbye Fised §rdd e ©@od0od.

Options :
1 % A DBA%w B Bodr

5 o ASTED

3 % A o08ain C Bodar

4 v A B, 08w C

Question Number : 104 Question Id : 630680221199 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Read the following and select the correct statement(s):
A: The full form of 'SOFTNET" scheme launched by the Telangana government is *Society for Telangana Network'.

B: The TASK scheme was launched by the Telangana government in the year 2015.

Options :



1 % OnlyA
Only B
3.+ BothAandB

4. % Neither AnorB

Question Number : 104 Question Id : 630680221199 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

& 1508 a8 A, MDA (HELN@) JothEod:

A BOOTD (296850 (FE0D0DS SoFTNET H3%0 358 &rdo ¥R 56 Seorme
N0

B: TASK Q50 S00ms (D250 201565 28020008,

Options :

| x A SIS

, % B @D

3 ¢ A DBCH B Bodr

4% A B B DO 5%



Question Number : 105 Question Id : 630680221200 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

How many Lok Sabha seats have been assigned to Telangana state as on 30t April 20237

Options :

1.¢ 17

3 % 19

Question Number : 105 Question Id : 630680221200 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

30 ADO 2023 38 BOOTD TEFAE M) S5 TTren JEFONOBDFTON?

Options:
1.+ 17
2. % 15

3 % 19

4. % 25



Question Number : 106 Question Id : 630680221201 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is/are correct about Telangana?

A. The State comprises of 33 districts as on 30t April 2023,
B. The largest district is Bhadradri Kothagudem in terms of area.

C. The smallest district is Hyderabad in terms of area.

Options :

1 % OnlyA

> % OnlyB

3. % BothBandC

4 v ABandC

Question Number : 106 Question Id : 630680221201 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Correct Marks : 1 Wrong Marks : 0
S0mad So0H0D 1808 & (HELSED) OBSAIOTON?

A. 30 QDS 2023 o°¢38 T ROS 33 BUTEW Crrr) 0.

B. VG0 HSoT @B DY B FH o FSirEo.

C. VLo HEOT @& DS B TrdTTerd.



Options :
A S50

1. %

, % B S

3 % B 0B € en Bodkr

4 v A B 083w C

Question Number : 107 Question Id : 630680221202 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

In which month of 2022 did the Election Commission of India accept the name change of Telangana Rashtra Samithi

to Bharat Rashtra Samithi?

Options :

1. % March

5 % August

3 % July

4.+ December

Question Number : 107 Question Id : 630680221202 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Correct Marks : 1 Wrong Marks : 0

B00TR T H8 DD 78S T HNST SFEFAS wréS AL D00 2028
D TS @oféfodod?

Options :

1% 08

5 % U

333@”@

4. v Goooaa

Question Number : 108 Question Id : 630680221203 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

When was the first general elections held in Telangana state?

Options :

1w January 2011

2 % March 2012

3 % August 2013

4 April2014



Question Number : 108 Question Id : 630680221203 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

S0 70 &0 FEBE DAEen I 238mrow?

Options:

1 % 200000 2011

5w o8] 2012

5w 6D 2013

4 v DO 2014

Question Number : 109 Question Id : 630680221204 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

With his win in assembly election 2018 which minister of Telangana Assembly became the youngest six-time member
of any legislative assembly in India?

Options :

1. % CA. Indrakaran Reddy

2. % V. Srinivas Goud

3.« T Harish Rao



4 % Guntakandla Jagadish Reddy

Question Number : 109 Question Id : 630680221204 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

2018 62008 A0S Aacho FHOD ST ER TARES 8l ¥ Hdet
AN 08 ) SAHE Boore @R0DE TodY HOB A

Options :

| % C A DODE8H Bep

, % V. 12D T&

3o T 5O T

n HoEE0 3EOD B

Question Number : 110 Question Id : 630680221205 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

In the 1971 parliamentary elections, how many Lok Sabha seats did Telangana Praja Samithi win in Telangana area?

Options :

1.¢ 10



)

3 % 12

4. % 14

Question Number : 110 Question Id : 630680221205 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

1971 3r80 IS Boora Frosod Boomn (e A JA) ST TTod
fenthdood?

Options :

1.+ 10

3 0% 12

4. % 14

Question Number : 111 Question Id : 630680221206 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Six persons B, Q, R, S, T and W are sitting around a circular table facing towards the centre (not necessarily in the same
order). R is sitting opposite to W. Only one person is sitting between P and S. T is sifting to the immediate left of S.
Only one person is sitting between W and T. Who is sitting third to the left of Q?

Options:



Question Number : 111 Question Id : 630680221206 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

P, QR S T a0 Wem ebhbd sy HTss Dand HEr 3o edmaor
e &8 (30 5008 GomO)d ©5080 B R W § Jodm Srdyd. P
DO 5 © eds 28 N8 dmed Sy, 5 § B8 D I T Erdyarych. w
5000 T © g 28 K8 Sr drdmdh. Honda § A0 39 i Fod

ANV aTov;

Options:

Question Number : 112 Question Id : 630680221207 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Correct Marks : 1 Wrong Marks : 0

Fivemen A, B, C, D and E are sitting around a circular table facing opposite to the centre (not necessarily in the same
order). Only one man is sitting between D and E. Only one man is sitting between C and D. A s sifting to the immediate
left of C. Who Is sifting to the immediate left of B?

Options :

1. % A

Question Number : 112 Question Id : 630680221207 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

A B, C, D 00 E oF 2hd $ien Sy@sd Dand & 3008 edknaorr

Sr8R G (38 ($008 Gomd)d @sido B&). D HB0 E © S 2af ¥
AP SR, ¢ DA D © s 28§ drsd SrdTyd. A € § $380
) B Srd)) . @00 B § 560 dhed eyl aaddd drd &y

Options :



Question Number : 113 Question Id : 630680221208 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

If today is Sunday, then what will be the day after 18 days?

Options:

1 % Wednesday

5 « Thursday

3 % Saturday

4 % Friday

Question Number : 113 Question Id : 630680221208 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

283% & Oz edT80 @ons, 18 8zre) durid o) 82 S0d?

Options :

1 % 2P0



v Hado

3 % 30380

R Eiyyele

Question Number : 114 Question Id : 630680221209 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Shikha is standing in a row of gitls. His position from start of the row is 32 and from end of the row is 32. How many

total girls are there in the row?

Options :

1.« 63

4. % 062

Question Number : 114 Question Id : 630680221209 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0



2o 2.8 @dmone SHNS DG God. HED @rd0250 N0od 8D W0 32 HBa
560 QX0 ok rE 8 T 32 ®o0d JOIS Fnso o HOA @XToe
G 8?7

Options:
1.+ B3
2. % B4

3 % 65

4, % 62

Question Number : 115 Question Id : 630680221210 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which day of week was there on sth August 20097

Options:

1 = Tuesday

> w Friday

3 % Thursday

4 Wednesday



Question Number : 115 Question Id : 630680221210 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

@33 5, 2009 & FE0Y D T HVoH?

Options :

1 % Dofigado

5, x DT80

3 % OG0

PRV R atviele

Question Number : 116 Question Id : 630680221211 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0



The diagram given below shows the number of pens of different types.

Gel 31— Blue

46
36 (48 |54 Light
%
L~

Arrange the following in descending order of their numbers.

I. Gel pens

II. Blue pens
III. Light pens
Options :

1 % O=I>TI

> % M>TI>1

3, v OM>1>1I

4 % M>T>1

Question Number : 116 Question Id : 630680221211 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0



& 1808 2508 Derd(B0 A0 850 010 DoPLD L)0d.

Gel 21 |— Blue

46
48 |34 Light
15

'-—-'/

Gel : 2O Blue : VOO Light : S

% 1808 &R 83 Hoie (580 @S $500S @808
I 2O edyew
I QOO0 Y e

. S8 yen

Options :
1% 1= 1 =1
2w 1l = 1 = |

3w > 1>

4 % > 00> |

Question Number : 117 Question Id : 630680221212 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0



In the following question below are given three statements followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the

conclusions and then decide which of the given conclusion logically follows the given statements.
Statements:

[ Some Mare N.

II. Some Nare J.

[T All Jare S,

Conclusions:

[ Some N are S.

II. Some Mare 5.

ML AllS areJ.
Options :

1. ¢ Only conclusion I follows

> % Only conclusion II follows

3. # Both conclusion I and III follows

4. % No conclusion follows

Question Number : 117 Question Id : 630680221212 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0



B85 19525 rdh (H8sen B Fon SO0 & (HEbse erdor SR dufogen

QI SFN. F)N (DO 0T SO TRVTO D)0 G D
@RN0DSNIBE D S RAT 2ro0d. Q) ANON BE, BRI HELSOD

@880 ©M80m SR AGonodod.
AN

. §0) Men N e,

I §Q) New J e,

Il J ) &) S e,

afioaye:

| §) N e 5 e,

I ) M e § e,

Il 5 en @) J e,

Options :

| v SBody I NV TR VIESINVER Ta B Vot

5 % SO0 I SrBH @DHIERN0H

5 x 00Ky | HBASH Il e Bodyr eSO 0w

4 % ) S0A0Y e80TI

Question Number : 118 Question Id : 630680221213 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Consider the following array of special characters. alphabets, and digits.

1

®

B2C31C#2@#3BCAA23#2@3

How many letters are preceded by a special character and followed by a digit?

Options :

1.% 3

I-2

Question Number : 118 Question Id : 630680221213 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

& 1506 O o8, afoen Hiah 9030 FEN H6iBodod,

1@B2C31C#2@#3BCAA23R2@3

T3 008 2.8 O 5850 AN ST 2.8 @03k EORS A @§Tren Sosy?

Options :



o 1

Question Number : 119 Question Id : 630680221214 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Height of five boys B1, B2, B3, B4 and B3 is compared. Each boy has a different height. Height of BS is neither least
nor maximum. Two boys have more height than B2 and two boys have less height than him. BI and B3 both have

height less than B2, Who has the maximum height?

Options :

1. % B2

2« B4

Question Number : 119 Question Id : 630680221214 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

B1, B2, B3, B4 shB0 85 @F DN o ey Feyagon. arendodd I055

HOD 98 S8, 85 g ) Lo 0 Ter B8R0 TR S, 2k arend B2

$0T) 0300 ) B 2 2rendd @S ST B N R Gam&. B sHBA

B3 &0 aQ8r B2 {00 803 IR0 OB S8, @ond & 162 S SO tam &

Options :



Question Number : 120 Question Id : 630680221215 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Number of wickets taken by six bowlers J, K, L, M, N and P are compared. Each bowler has taken different number of
wickets. Number of wickets taken by K are more than only the number of wickets taken by J. Number of wickets taken
by N are less than only two bowlers. Number of wickets taken by M are not more than N. Who among the following has

taken more wickets than N?

Options :

1.8 M

Question Number : 120 Question Id : 630680221215 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

Correct Marks : 1 Wrong Marks : 0

5K LM, N 80 P R ehbnd Fod il D3 Kog; Fointod. o) F'eb
A H023 o ALK ST, K S NFL Hows J SRS DT Hop; B SmEH
DA, N &S DI Howg Too 2l ol 0B S5y M adS DY dogg N o
0y 0. o & (808 T8 A5 N 40T Moy DY Buddy?

Options :

Question Number : 121 Question Id : 630680221216 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

In a certain coding language ‘PAYMEN' is coded as ‘OBXNDO’. Match the following words with their respective
codes on basis of the above given code language?

Word Code

I [RETRYS | | |REBVQF

II'| ORDEAL | 2 | NSCFZM

[IT| SECURE | 3 | QFSSXT

Options:



1 % I-2,1I-1,1II-3

5 13,112, TII-1

3 % 12,113, 1II-1

4 % I-3,1I-1,III-2

Question Number : 121 Question Id : 630680221216 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

D02 €408 A PAYMEN' 938 0BXNDOTT €5 Tahadod.

% 20 §6 2y esrdor & 1508 e T d0a0dd Fhed BsNdod?

H&0 &6

| |RETRYS | 1 |RFBVQF

Il | ORDEAL | 2 | NSCFZM

SECURE | 3 | QF3SXT

Options:

1 % -2, 11-1, 11-3

2w -3, 11-2, 111

3 % 12, 11-3, 1111



4 % -3, 11-1, 1lI-2

Question Number : 122 Question Id : 630680221217 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Ina certain coding language ‘TRIPARTY is coded as ‘IRTPAYTR'. Which of the following pair of Word : Code is
correct on basis of the above code language?

Options :

1. % RELATEDS : ERTATESD

2. % WORDINGS : OWDRNISG

3.« SPEAKERS : EPSAKSRE

4. % PAYMENTS : STNEMYAP

Question Number : 122 Question Id : 630680221217 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

D0 E&0oR 27AeS TRIPARTY @38 'IRTPAYTRT &6 DahaGod.

2 6 o edor & 808 H%0 : Fh ad0S IBIE A&?

Options :

1. # RELATEDS : ERLATESD



2. % WORDINGS : OWDRNISG

3.« SPEAKERS : EPSAKSRE

4. % PAYMENTS : STNEMYAP

Question Number : 123 Question Id : 630680221218 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

A person starts from Z and walks towards east for 18 km to reach point Y. He now turns left from point Y and walks for
12 km to reach point X. He now turns left and walks for 24 km to reach point W. He now turns left and walks for 12 km

fo reach point U

Which of the following statements is correct?
I Distance between U and Z is 12 km.

I U s towards west of Z.

[0 X is towards south west of Z.

Options:

1 & OnlylIl

2 % landII

3 % OnlyIII

4. ®# None



Question Number : 123 Question Id : 630680221218 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

2.8 368 2 008 80D 18 km ) Fo) AT Y T8 DhK0rD. @ 9
Y R0 hod I S 868 12 km G X TRl TRK0ErD. e DY b

3% A0 24 km A W T DHN0ETE. e @YD BN ) S8A 12 km
60 U Ty Bh%otrd

o & (508 [HEOdeS B $BS6?
| U 8o Z © g Ardo 12 km
I U, Z § DGDE 3y G0,

X,z § 308 3y God,

Options :
| o I ST

o % | 085w Il

3 % I ST

4. ® cr;)&) 57

Question Number : 124 Question Id : 630680221219 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



In the following question, a group of letter clusters is given. The letter-number clusters of each group are related with
the letter-number clusters of the same group by some Logic/Rule/Relation. From the given alternatives, select a group
of letter-number clusters which does not follow the same Logic/Rule/Relation.

(WXT67, ZBYS3, CFD13)
Options :

1 « (ANDI9, DRI31, GVN43)

5 x (PQRSL, STW6Z, VXB4S)

3 # (SAN34, VES45, YIXSS)

4 % (ABC6, DFHI7. GIM30)

Question Number : 124 Question Id : 630680221219 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

& (808 1998, ©%8 SmFe (1) 3550808, N6 MRToS A @f 800 darFe
06 %) 0NANN0R0D000 75T ©F NFoSR @ d-Hons ddmres Nonodo
OB GOLran. 90 (NEr)0ire Dok, 88 $8)0R00N0M0000R) GNBo
% 0098 AR JothEod,

(WXT67, ZBYS3, CFD13)
Options:
1« (AND19, DRI31, GVNA43)

, % (PQRS1, STW62, VXB48)

5« (SAN34, VES45, YIX58)



4 % (ABCG, DFH17, GJM30)

Question Number : 125 Question Id : 630680221220 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Letters given on the left side of (;) are related with the letters given on the right side of (:) by some Logic/Rule/Relation.
Select the correct alternative from the given alternatives based on the same Logic/Rule/Relation.

CURD : BSOZ

Options :

1 % TIME : SGIA

5> « CINE : BGKA

3. % PINT: OGKO

4. % SNAP:RLYL

Question Number : 125 Question Id : 630680221220 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

() OI8) )had Bod BRGNS ©FTren §oeh BG0RNNN00N0 T () NG Sayd

2% ©§Ted owodo 08 Gotron. ©F &6;0R000M02080 B80T a0
)0 D06 NN (DErir o) ook,

CURD: BSOZ
Options :



1. % TIME : SGIA

5> « CINE : BGKA

3 % PINT : OGKO

4. % SNAP @ RLYL

Question Number : 126 Question Id : 630680221221 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

The question given below has a question and two statements. Choose the correct option on the basis of the question and

statements.
Asum doubles itself in 3 years. In how much time will it become 8 times?
[. The sum was invested on simple interest.

II. The sum was invested on compound interest.
Options :

The question can be answered by using one of the statements alone but cannot be answered by using the other statement

1. % alone.

>  The question can be answered by using either of the statement I or I alone.

3. % The question can be answered by using both the statements together but not by either statement alone.

4. % The question cannot be answered by even by using both the statements together.



Question Number : 126 Question Id : 630680221221 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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D800 aFdor B0 Qoadd JothEod.
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Options :
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Question Number : 127 Question Id : 630680221222 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



The question given below has a question and two statements. Choose the correct option on the basis of the question and

statements.
What percentage of students in class are girls?
I, There are 56 boys in the class.

1. The number of girls in the class is 8 less than the boys.
Options :

The question can be answered by using one of the statements alone but cannot be answered by using the other statement

1. % alome.

> % The question can be answered by using either of the statement I or I alone.
3.« The question can be answered by using both the statements together but not by either statement alone.

4. % The question cannot be answered by even by using both the statements together.

Question Number : 127 Question Id : 630680221222 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

& 1808 a9 (KNS, 28 D) LBk Bod HEbdey Grmo. (H) HHBa
R8N0 errdor 23S %D JoEod.

9 818 S dos 70 H06 ey ST
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Options :

1. %
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Question Number : 128 Question Id : 630680221223 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

In the following question, two statements are given. There may be a cause-and-effect relationship between the two

statements. Identify the correct relation between the statements and choose the correct option.
Statement A: Many lakes in the city X have dried up.

Statement B: The record numbers of people from city Y migrated to city X.

Options :

1. # If statement A is the cause and statement B is its effect.

2 % If statement B is the cause and statement A is its effect.

3. % Ifboth the statements A and B are independent causes.

4« 1fboth the statements A and B are effects of independent causes.



Question Number : 128 Question Id : 630680221223 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

& (800 (41 Bodh (¥exden o, Bod [HEHR Xdg SEe0-SBaMS
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Options :

| % 283F (DEOS A 38690 oS 1H3LS B o) (D270 ©959e0d.
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4 v A DOAW B e Boch (HELDN diS0(¢ sdeTe Gy |Hararen.

Question Number : 129 Question Id : 630680221224 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



The table given below shows the number of spectators present in 4 stadiums during different matches held in them. The

table also gives the maximum capacity of each stadium.

Stadium | Present | Maximum capacity

SL | 88000 100000

52| 41260 50000

531 32880 40000

54 151300 60000

Popularity score of a stadium = (Present/Maximum Capacity) * 100

Which of the following is the correct order of popularity scores of the given stadiums?

Options :

1. % S4>=81>8S2>8S3

> % S1>S4>83>S2

3. ¢ S1>54>82>83

4 % S4=S1>83>52

Question Number : 129 Question Id : 630680221224 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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St 83000 100000
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s3 32880 40000
s4 51300 50000

D& T (NerdBe K = (FuBsad M09 ardio) x 100
350008 DAKTD g zddn e 580 & §od TS NBS $h0 87

Options :
1. % 5S4 » 51 > 32 » S3
2 # S1 > 54 > 83 » 32

3w S1 >S4 > 52 > S3

4. % 54 = 51 > 83 = S2

Question Number : 130 Question Id : 630680221225 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0



The table given below shows the revenue and expenditure of 4 different companies during a financial year.

Company | Revenue | Expenditure

Cl | 2800000| 2400000

C2 | 2200000| 1800000

C3 | 3200000 2900000

C4 | 3800000| 3500000

Profit percentage = [(Revenue — Expenditure) Expenditure] * 100

Which of the following is the correct order of profit percentage of the given 4 companies?

Options :

1 % Cl=>C2>C4>C3

2. % Cl=C2=C3>=C4

3¢ C2>Cl>C3>=C4

4 % C2>Cl1>C4>C3

Question Number : 130 Question Id : 630680221225 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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o) | 8o | $5090

C1 | 2300000 | 2400000

C2 | 2200000 | 1800000

C3 | 3200000 | 2900000

C4 | 3800000 | 3500000

ers) F0 = [(BT0N0 - 93000)/93000] x 100

3% 4 5000 e TS0 (3560 & 808 FES 33X (EXoS 6

Options :

1.% C1 = C2 > C4 > C3

5, % C1 > C2>C3 > C4

3 C2>Cl1>C3>C4

4. % C2 > C1 > C4 > C3

Question Number : 131 Question Id : 630680221226 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

Infrastructure is development necessity.

Options:



2 % an

3. % the

4. % No article

Question Number : 131 Question Id : 630680221226 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

Infrastructure is development necessity.

Options :

1.+ 4

2 % an

3. % the

4. % No article

Question Number : 132 Question Id : 630680221227 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

more successful we become, more important it is to constantly question ourselves.

Options :

1. % The. a

5 % A, the

3 « The, the

4 % A, an

Question Number : 132 Question Id : 630680221227 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

more successful we become, more important it is to constantly question ourselves.
Options :
1 % The a
5 % A, the

3 « The, the

4 % A.an



Question Number : 133 Question Id : 630680221228 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

China historic progress in domestic growth in the last year.

Options :

1. % achieve

2 % will achieved

3 % achieving

4. + had achieved

Question Number : 133 Question Id : 630680221228 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

China historic progress in domestic growth in the last year.
Options :
1. % achieve

2. % will achieved

3 % achieving



4. + had achieved

Question Number : 134 Question Id : 630680221229 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

He comes in a hole in the floor.

Options :

1. % with

2. %

3« through

4. % about

Question Number : 134 Question Id : 630680221229 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

He comes in a hole in the floor.

Options :

1. % with



3 through

4. % about

Question Number : 135 Question Id : 630680221230 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

From the four sentences given below, identify the sentence(s) with a grammatical error.
[. Who is going to read all your copy?

II. Ben try to make cake, but fails.

IIT. We were on our way back.

IV. Their are only three ways to make money.

Options :

1 % OnlyI ITand III
5w OnlyIV

3 « OnlyIIand IV

4 % OnlyTandIII

Question Number : 135 Question Id : 630680221230 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Correct Marks : 1 Wrong Marks : 0

From the four sentences given below, identify the sentence(s) with a grammatical error.
[. Who is going to read all your copy?

II. Ben try to make cake, but fails.

III. We were on our way back.

IV. Their are only three ways to make money.
Options :

1 % OnlyI IIand III

5w OnlyIV

3 « OnlyIIand IV

4 % OnlyIand III

Question Number : 136 Question Id : 630680221231 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

From the four sentences given below, identify the sentence(s) with a grammatical error.
L. Nearly two weeks had pass since the killing.

II. T am filing a case against your daughter.

III. Small-scale farmers in France needs agricultural machines to support their work.

IV. Neither the secretary nor the ministers is walking inside the garden.
Options :

1.



w OnlylI

> % OnlyIIand IV

3 % Only ITand III

4+ Ounly L ITand IV

Question Number : 136 Question Id : 630680221231 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

From the four sentences given below, identify the sentence(s) with a grammatical error.
L. Nearly two weeks had pass since the killing.

II. T am filing a case against your daughter.

III. Small-scale farmers in France needs agricultural machines to support their work.

IV. Neither the secretary nor the ministers is walking inside the garden.
Options :

1 = Onlyl
5 w Only Il and IV
% Only IT and III

3

4w Only L IIT and IV



Question Number : 137 Question Id : 630680221232 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence with the correct usage of the present continuous tense.

[. I am not coming in Simran’s party.

I1. You are waiting for the blue bus.
Options:

1 = Onlyl

> % OnlylIl

3 « BothIandII

4. % Neither I nor I

Question Number : 137 Question Id : 630680221232 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence with the correct usage of the present continuous tense.

I. I am not coming in Simran’s party.

II. You are waiting for the blue bus.

Options :

1 = Onlyl

> % OnlylIl



3 « BothIandII

4. % Neither I nor I

Question Number : 138 Question Id : 630680221233 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence with the correct usage of the past perfect tense.

L. She had been walking outside the complex when her mother arrived.

II. Your manager misplaced all the project files.

Options :

1 = Onlyl

> % OnlylIl

3. % BothIandII

4. + Neither I nor I

Question Number : 138 Question Id : 630680221233 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the sentence with the correct usage of the past perfect tense.

L. She had been walking outside the complex when her mother arrived.

II. Your manager misplaced all the project files.
Options :

1 % OnlylI

> % OnlyII

3 % BothIandII

4.+ Neither I nor I

Question Number : 139 Question Id : 630680221234 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

The earth is bigger than the sun. ?
Options :

1. % does it

2 % Isit

3. % didn’tit

4. lsn'tit



Question Number : 139 Question Id : 630680221234 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

The earth is bigger than the sun. ?

Options :

1. % does it

2 ®% Isit

3. % didn’tit

4.« lsn'tit

Question Number : 140 Question Id : 630680221235 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

You wouldn't put your trust in her, ?

Options :

1« Would you

> % Will not you



3. % should not you

4 % canyou

Question Number : 140 Question Id : 630680221235 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

You wouldn't put your trust in her, ?

Options :

1« Would you

> % Will not you

3. % should not you

4 % canyou

Question Number : 141 Question Id : 630680221236 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the correct passive form of the given sentence.

Sneha’s nephew is reading a journal.

Options :

1 = Ajournal was being read by Sneha’s nephew.



> % Ajournal is been read by Sneha’s nephew.

3 « Ajournal is being read by Sneha’s nephew.

4 % Ajournal is read by Sneha’s nephew.

Question Number : 141 Question Id : 630680221236 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the correct passive form of the given sentence.

Sneha’s nephew is reading a journal.
Options :

1 % Ajournal was being read by Sneha’s nephew.

> % Ajournal is been read by Sneha’s nephew.

3 « Aljournal is being read by Sneha’s nephew.

4 % Ajournal is read by Sneha’s nephew.

Question Number : 142 Question Id : 630680221237 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Select the correct active form of the given sentence.

This document has not been signed by us.
Options :

1 = We will not sign this document.

> « We have not signed this document.

3 % We cannot sign this document.

4 % We didn’t sign this document.

Question Number : 142 Question Id : 630680221237 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the correct active form of the given sentence.

This document has not been signed by us.
Options:

1 = We will not sign this document.

5 « We have not signed this document.

3 % We cannot sign this document.

4 % We didn’t sign this document.



Question Number : 143 Question Id : 630680221238 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the given idioms with their correct meanings.

Idiom Meaning

Paint the townred | 1| To die

=3

Once and for all To have a great time

A
B
C | Kick the bucket 3 | In person
D | In the flesh 4 | Completely and finally

Options :

| v A2,B-4,.C-1,D-3

, % A-1.B-2,C-4,D-3

3 % A-3,B-2.C-4,D-1

4 % A-4,B-1,C-3,D-2

Question Number : 143 Question Id : 630680221238 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the given idioms with their correct meanings.

Idiom Meaning

Paint the townred | | | To die

=3

Once and for all To have a great time

Kick the bucket 3 | In person
In the flesh 4 | Completely and finally

w ] <




Options :

| v A-2,B-4,C-1,D-3

, % A-1,B-2,C-4,D-3

3 % A-3,B-2,C-4,D-1

4 % A-4,B-1.C-3,D-2

Question Number : 144 Question Id : 630680221239 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the given idioms with their correct meanings.

Idiom Meaning
A | Give and take | | | To discover something important
B | Get cold feet 2 | To make sense
C | Fall into place | 3 | Be frightened
D | Blaze a trail 4 | Compromises
Options :

| % A-2,B-4,C-1,D-3

, % A-1,B-2,C-3,D-4

3 % A-3.B-2,C-1,D-4

4 v A4,B-3,C-2,D-1



Question Number : 144 Question Id : 630680221239 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Match the given idioms with their correct meanings.

Idiom Meaning
A | Give and take | | | To discover something important
B | Get cold feet 2 | To make sense
C | Fall into place | 3 | Be frightened
D | Blaze a trail 4 | Compromises
Options :

| % A-2.B-4.C-1,D-3

, % A-1.B-2,C-3,D-4

3 % A-3,B-2,C-1,D-4

4 v A-4,B-3.C-2,D-l

Question Number : 145 Question Id : 630680221240 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Identify the correct pair of synonyms.
L. Stylish: Trendy

II. Mystical: Mundane

III. Arouse: Nod

IV. Behold: Miss

Options :



w OnlyI

Only IT and IV

Only III

Only L IIT and IV

Question Number : 145 Question Id : 630680221240 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct pair of synonyms.

L. Stylish: Trendy

II. Mystical: Mundane

III. Arouse: Nod
IV. Behold: Miss

Options :

1« OnlylI

> % OnlyITand IV

3 % OnlyIII

4 % OnlyLITand IV

Question Number : 146 Question Id : 630680221241 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct pair of antonyms.
L. Talkative: Taciturn

II. Radiant: Flat

ITI. Demolish: Shape

IV. Haul: Thrust

Options :

1 % OnlyIandII

> % Only Il and III

3 % OnlyIIIand IV

4. All L IT, IIT and IV

Question Number : 146 Question Id : 630680221241 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct pair of antonyms.
L. Talkative: Taciturn

II. Radiant: Flat

ITI. Demolish: Shape

IV. Haul: Thrust

Options:

1 % OnlyIandII

> % Only Il and III



3 % OnlyIIand IV

4 AILLILII and IV

Question Number : 147 Question Id : 630680221242 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence(s) with no spelling errors from the given sentences.

I. Deadlines refine the mind.

II. The country needs to harnness its vast hydropower resources.

Options :

1 Onlyl

> % OnlylIl

3. % BothIandII

4. % Neither I nor I

Question Number : 147 Question Id : 630680221242 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0



Identify the sentence(s) with no spelling errors from the given sentences.
L. Deadlines refine the mind.

II. The country needs to harnness its vast hydropower resources.
Options :

1 & OnlylI

> % OnlyII

3 % BothIandII

4. % Neither I nor I

Question Number : 148 Question Id : 630680221243 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence(s) with no spelling errors from the given sentences.

I. We eat in silence for a few long mintues.
IT. We do not get paid for our ideas.
ITI. She unties her shoes and slips them off.

IV. China needs to establish an integrated management of forests.

Options :
1 % OnlyIandII

> % OnlyIandIII

3 % OnlyIIand IV



4w Only IL TIT and IV

Question Number : 148 Question Id : 630680221243 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence(s) with no spelling errors from the given sentences.

I. We eat in silence for a few long mintues.
II. We do not get paid for our ideas.
III. She unties her shoes and slips them off.

IV. China needs to establish an integrated management of forests.

Options :

1 % OnlyIandII

> % OnlyIandIII

3 % OnlyIIand IV

4 Ounly IL IIT and IV

Question Number : 149 Question Id : 630680221244 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate pair of homonyms for the given blanks.

She her hair pink, but I later learned that she of a heart attack.

Options :



1 % bawled. bald

died. dyed

3 % bald, bawled

4 dyed. died

Question Number : 149 Question Id : 630680221244 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate pair of homonyms for the given blanks.

She her hair pink, but I later learned that she of a heart attack.

Options :

1 % bawled. bald

5> % died. dyed

3 % bald, bawled

4 dyed. died

Question Number : 150 Question Id : 630680221245 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0

Select the most appropriate pair of homonyms for the given blanks.

I still can't believe I gave to my child on a train

Options :

1.« birth, berth

5 % cache, cash

3 % berth, birth

4 % cash, cache

Question Number : 150 Question Id : 630680221245 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate pair of homonyms for the given blanks.

I still can't believe I gave to my child on a train
Options :

1« birth, berth

5 % cache, cash

3w berth, birth

4 % cash, cache



